Chapter 6

	1.
	In this type of e-commerce, the sellers are organizations and the buyers are individuals.
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government-to-citizen
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consumer-to-consumer
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business-to-business
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business-to-consumer




	2.
	The creation of a trend, known as _________ on the Internet today, is brought about by the merging of Web 2.0 technologies, e-business opportunities, and online communities.
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e-business
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electronic tendering
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social commerce
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online direct marketing




	3.
	Which of the following is not an advantage of the online job market?

[image: image9.wmf]A.
low cost

[image: image10.wmf]B.
recruiting company guarantees the best applicant for the job
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ease of transmitting information and documents
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recruiting company saves time on data entry by using electronic forms




	4.
	Internet fraud is:
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increasing slowly
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decreasing rapidly
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increasing rapidly
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decreasing slowly




	5.
	EC can take two forms depending on the degree of digitization—the transformation from physical to digital—involved.
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True
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False




	6.
	The basic idea of EC is to automate as many business processes as possible.
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True
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False




	7.
	Buying an e-book from Amazon.com or a software product from Buy.com is pure EC, because the product, its delivery, payment, and transfer agent are all done online
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True
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False




	8.
	Buyers rarely benefit from e-auctions because bargaining for lower prices is ineffective in auctions.
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True
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False




	9.
	Reverse auctions are auctions that sellers use as a selling channel to many potential buyers.
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False




	10.
	The most well known B2C site is Amazon.com.
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False




	11.
	An advantage of forward auctions is that a seller auctions items to many potential buyers.
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False




	12.
	The vast majority of e-commerce volume is business-to-business (B2B).
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False




	13.
	Even though the Internet works well for job seekers and companies trying to hire new people, the total costs are higher than with traditional job ads.
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False




	14.
	E-procurement uses reverse auctions as well as two other popular mechanisms: group purchasing and desktop purchasing.
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True
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False




	15.
	Intermediaries or e-tailers, such as Wal-Mart and Home Depot may fight manufacturers in fear that the traditional sales channel that they provide will be negatively affected by online channels.
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True
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False




Chapter 8
	1.
	Web 1.0 was basically organized around ______________ and Web 2.0 is fundamentally organized around _________.

[image: image39.wmf]A.
corporations and technology; people and services

[image: image40.wmf]B.
education and research; portals and networks

[image: image41.wmf]C.
media; networks

[image: image42.wmf]D.
data and collaboration; corporations and technology




	2.
	The popular term for advanced Internet technology and applications including blogs, wikis, RSS, and social bookmarking is _________.

[image: image43.wmf]A.
industry disruptors

[image: image44.wmf]B.
social media

[image: image45.wmf]C.
Web 2.0

[image: image46.wmf]D.
Web 3.0




	3.
	A term used to describe the future of the World Wide Web is _________.
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industry disruptor

[image: image48.wmf]B.
social media

[image: image49.wmf]C.
Web 2.0

[image: image50.wmf]D.
Web 3.0




	4.
	A user defined 3D world in which people can interact, play, and do business is a(n) _________.
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enterprise blog

[image: image52.wmf]B.
RSS

[image: image53.wmf]C.
social media

[image: image54.wmf]D.
virtual world




	5.
	Groups of people with similar interests who interact with one another using the Internet are _________.

[image: image55.wmf]A.
blogs

[image: image56.wmf]B.
social networks

[image: image57.wmf]C.
virtual communities

[image: image58.wmf]D.
wikis




	6.
	An enterprise social network is a social network within an enterprise that allows employees to communicate, collaborate, and set up virtual worlds in which they can meet like-minded colleagues within the company and exchange ideas with them to improve productivity.
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True
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False




	7.
	Social network analysis (SNA) is the mapping and measuring of relationships and flows between people, groups, organizations, or other information processing entities.
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False




	8.
	V-commerce is viral marketing done by bloggers.
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False




	9.
	Web 3.0 will be about shopping, entertainment, and search.
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True
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False




	10.
	The explosion of wireless Web 3.0 services and companies enables many social communities to be based on the mobile phone and other portable wireless devices.
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False




	11.
	Security concerns and Net neutrality may slow EC and Web 3.0.
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True
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False




	12.
	Pure-play Internet communities may have thousands or millions of members. This is one major difference with purely physical communities, which usually are smaller.
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True
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False




Chapter 10

	1.
	Describes the flows and activities conducted between a company (e.g., manufacturer, assembler) and its suppliers and their subsuppliers, all the way to the origin of the materials.
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Upstream
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Internal
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Downstream
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Up down




	2.
	Enterprise Resource Planning (ERP) system's major objective is to

[image: image77.wmf]A.
electronically link an organization with its suppliers
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electronically link an organization with its customers
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integrate departments and functions within an organization
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manage inventory




	3.
	All of the following are components of CRM except:
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Marketing

[image: image82.wmf]B.
Sales

[image: image83.wmf]C.
Channel management

[image: image84.wmf]D.
Manufacturing




	4.
	The following are flows in the supply chain except:
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Material flows
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Informational flows
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Software flows
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Financial flows




	5.
	This part of the supply chain includes all the processes involved in delivering the product to the final customers.
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upstream
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internal

[image: image91.wmf]C.
extended
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downstream




	6.
	____________ chains connect suppliers to a manufacturing company, departments inside a company, and a company to its customers.
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Demand
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Supply
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Global

[image: image96.wmf]D.
International




	7.
	Companies may avoid the negative impacts of the 'bullwhip' effect by:

[image: image97.wmf]A.
sharing information
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outsourcing non-core processes
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manufacturing on demand

[image: image100.wmf]D.
setting a high reorder level




	8.
	Which of the following is an example of an intangible benefit in regards to systems integration?

[image: image101.wmf]A.
On-time delivery improvement

[image: image102.wmf]B.
Customer responsiveness

[image: image103.wmf]C.
Increase in sales

[image: image104.wmf]D.
Order management improvement




	9.
	Business intelligence refers to analysis performed by

[image: image105.wmf]A.
DSS
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EIS

[image: image107.wmf]C.
Data Mining
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All of the above




	10.
	Enterprise resource planning (ERP) system's major objective is to

[image: image109.wmf]A.
electronically link an enterprise with its suppliers
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electronically link an enterprise with its customers

[image: image111.wmf]C.
integrate departments and functions within an enterprise
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handle inventory




	11.
	Which of the following is not a component of customer relationship marketing (CRM)?

[image: image113.wmf]A.
Marketing
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Sales

[image: image115.wmf]C.
Channel/Partner Management

[image: image116.wmf]D.
Manufacturing




	12.
	_______________ refers to the flow of materials, information, money, and services from raw material suppliers, through factories and warehouses, to the end customers.

[image: image117.wmf]A.
Supply chain

[image: image118.wmf]B.
Enterprise system

[image: image119.wmf]C.
Data control

[image: image120.wmf]D.
Control




	13.
	Collaborative CRM deals with all the necessary communication, coordinate, and collaboration between vendors and _______________.
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sales

[image: image122.wmf]B.
customers
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production

[image: image124.wmf]D.
marketing




	14.
	Through a supportive organizational climate and modern information technology, an organization can bring its entire organizational memory and knowledge to bear upon any problem anywhere in the world and at any time.

[image: image125.wmf]A.
True

[image: image126.wmf]B.
False




	15.
	The main goal of modern SCM is to reduce uncertainty, variability, and risks, and increase control in the supply chain, thereby positively affecting inventory levels, cycle time, business processes, and customer service.
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True

[image: image128.wmf]B.
False




	16.
	Collaborative planning, forecasting, and replenishment (CPFR) is a business practice in which suppliers and customers collaborate in planning and demand forecasting in order to ensure that members of the supply chain will have the right amount of raw materials and finished goods when they need them.

[image: image129.wmf]A.
True

[image: image130.wmf]B.
False




Chapter 11
	1.
	For enterprises with on-demand and real-time production operations, there will:

[image: image131.wmf]A.
be mass customization.

[image: image132.wmf]B.
be no backorders, safety stock, lag time, or excess inventory.

[image: image133.wmf]C.
be no friction in the supply chain.

[image: image134.wmf]D.
be virtual corporations.




	2.
	Which is not one of the most prominent types of interorganizational systems?
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B2B trading systems

[image: image136.wmf]B.
B2B support systems

[image: image137.wmf]C.
Business intelligence

[image: image138.wmf]D.
Electronic funds transfer




	3.
	United Airline's online reservations system, Apollo, used by travel agents is an example of a(n) ________.

[image: image139.wmf]A.
B2B support system

[image: image140.wmf]B.
global system

[image: image141.wmf]C.
groupware system

[image: image142.wmf]D.
EFT




	4.
	______________ are telecommunication networks that transfer money among financial institutions.
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EFT

[image: image144.wmf]B.
Global trade

[image: image145.wmf]C.
IOS

[image: image146.wmf]D.
Shared databases




	5.
	Which of the following facilitates communication and collaboration between and among organizations?
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B2B support system

[image: image148.wmf]B.
global system

[image: image149.wmf]C.
groupware system

[image: image150.wmf]D.
EFT




	6.
	_______________ are joint ventures whose business partners are located in different countries; and the partners form a company for the specific purpose of producing a product or service.

[image: image151.wmf]A.
Integrated companies

[image: image152.wmf]B.
International companies
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Multinational companies
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Virtual global companies




	7.
	The dominant actions in a traditional supply chain included all of the following except:
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forecast demand
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forecast supply
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make-to-stock
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push products downstream toward end customer




	8.
	An electronic hub is used to facilitate:

[image: image159.wmf]A.
communication and coordination
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trading among companies
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ordering and training

[image: image162.wmf]D.
direct customer service




	9.
	Two components of traditional EDI are:

[image: image163.wmf]A.
EDI translators and business operational transactions

[image: image164.wmf]B.
Business operational messages and EDI translators
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Data formatting standards and business transactional operations

[image: image166.wmf]D.
Business transaction messages and data formatting messages




	10.
	An interorganizational information system (IOS) involves information flow among _________ or more organizations.
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One
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Two
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Three

[image: image170.wmf]D.
Four




	11.
	Multinational companies, ______________ companies, and virtual global companies typically need global information for their B2B operations.

[image: image171.wmf]A.
State-wide

[image: image172.wmf]B.
Corporation

[image: image173.wmf]C.
Domestic

[image: image174.wmf]D.
International




	12.
	Culture consists of the objects, _____________, and other characteristics of a particular society.

[image: image175.wmf]A.
Values

[image: image176.wmf]B.
Morals

[image: image177.wmf]C.
Rules

[image: image178.wmf]D.
Ethics




	13.
	The concept of on-demand enterprise is based on the premise that manufacturing or service fulfillment start after necessary inventory is received.

[image: image179.wmf]A.
True

[image: image180.wmf]B.
False




	14.
	Order fulfillment refers to providing customers with what they have ordered and doing so on time, and to providing all related customer services.

[image: image181.wmf]A.
True

[image: image182.wmf]B.
False




	15.
	PRM (partner relationship management) solutions connect companies with their business partners (suppliers, customers, services) using Web technology to securely distribute and manage information.

[image: image183.wmf]A.
True

[image: image184.wmf]B.
False




Chapter 12
	1.
	Which of the following is true of business intelligence (BI)?

[image: image185.wmf]A.
Operational data stores and ETL are components needed for real-time BI.

[image: image186.wmf]B.
BI is a highly complex set of tools used by analysts and mathematicians at large corporations to identify trends or anomalies in structured data.

[image: image187.wmf]C.
Many CIOs (chief information officers) have not made BI a top priority over technologies for security or a mobile workforce.

[image: image188.wmf]D.
BI tools are limited to the support of back office operations and employees in accounting and finance.




	2.
	_________ are an alternative to more traditional (non-real-time) BI systems that extract data from applications, load it into databases or data warehouses, and then run analytics against the data stores.

[image: image189.wmf]A.
Operational decision support

[image: image190.wmf]B.
Event-driven alerts

[image: image191.wmf]C.
Predictive analytics

[image: image192.wmf]D.
Automated decision systems




	3.
	Before data that has been extracted from various systems can be analyzed, they need to be:

[image: image193.wmf]A.
organized

[image: image194.wmf]B.
integrated

[image: image195.wmf]C.
standardized

[image: image196.wmf]D.
mined




	4.
	Which is not one of the potential benefits of enterprise reporting systems?

[image: image197.wmf]A.
easy access to necessary data
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reduced costs
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improved control

[image: image200.wmf]D.
increased data latency




	5.
	Which is not a benefit of automating certain tasks that are involved in the decision making process?

[image: image201.wmf]A.
saves time

[image: image202.wmf]B.
increases consistency

[image: image203.wmf]C.
better decisions

[image: image204.wmf]D.
fewer alternatives to consider




	6.
	For many companies, years of data were, in effect, locked up in transactional data silos, which has contributed to the need for BI.

[image: image205.wmf]A.
True

[image: image206.wmf]B.
False




	7.
	BI has emerged as a critical IT that provides measurable business value to large companies because BI is often too expensive for small and medium companies.
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True

[image: image208.wmf]B.
False




	8.
	To implement BI, an extensive and complex architecture is needed to be able to monitor and manage the performance of the enterprise as a whole.

[image: image209.wmf]A.
True

[image: image210.wmf]B.
False




	9.
	Enterprise reporting systems provide standard, ad hoc, or custom reports that have been created by IT staff or analysts.

[image: image211.wmf]A.
True

[image: image212.wmf]B.
False




	10.
	Data are not the only type of content that can be mined for insights, although it certainly is the easiest.
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True

[image: image214.wmf]B.
False




	11.
	Data mining techniques are not well-suited to analyze financial time series data to assess risk or detect fraud.

[image: image215.wmf]A.
True

[image: image216.wmf]B.
False




	12.
	With the introduction of ISs in organizations, managers would receive an avalanche of data about issues and problems, which led to information overload.

[image: image217.wmf]A.
True

[image: image218.wmf]B.
False




	13.
	Making decisions while processing information manually is growing increasingly difficult because there are too many alternatives, scenarios, and risks to consider.

[image: image219.wmf]A.
True

[image: image220.wmf]B.
False




	14.
	Sensitivity analysis is the study of the impact that changes in one (or more) parts of a model have on other parts.
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True
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False




	15.
	The basic components of a DSS are a database, model base, and knowledge base.

[image: image223.wmf]A.
True

[image: image224.wmf]B.
False




	16.
	Automating the decision-making process is usually achieved by capturing a manager's expertise in a database.
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True

[image: image226.wmf]B.
False




	17.
	Decision makers on the frontline need BI to be able to make effective decisions in real-time while interacting with customers and to do so according to strategies and guidelines set forth by senior management.

[image: image227.wmf]A.
True

[image: image228.wmf]B.
False




Chapter 17
	1.
	Direct impacts of IT investments include all of the following except:

[image: image229.wmf]A.
direct cost savings

[image: image230.wmf]B.
revenue generation

[image: image231.wmf]C.
better quality

[image: image232.wmf]D.
major organizational change




	2.
	Reasons for justifying IT investments include all of the following except:

[image: image233.wmf]A.
Increased pressure for financial justification from senior management.

[image: image234.wmf]B.
Reduced competition for funding.

[image: image235.wmf]C.
Companies now realize that IT is not necessarily the solution to all problems.

[image: image236.wmf]D.
Some large companies, and many public organizations, mandate a formal evaluation of requests for funding.




	3.
	_____________ systems treat the IT function as a service bureau or utility, charging organizational subunits for IT services with the objective of recovering IT expenditures.

[image: image237.wmf]A.
Regulatory

[image: image238.wmf]B.
Chargeback

[image: image239.wmf]C.
Mainframe

[image: image240.wmf]D.
Computer




	4.
	The ___________ paradox is described as the discrepancy between measures of IT investment and measures of output.

[image: image241.wmf]A.
productivity

[image: image242.wmf]B.
knowledge

[image: image243.wmf]C.
business

[image: image244.wmf]D.
technology




	5.
	Potential outsourcing benefits include the following except:

[image: image245.wmf]A.
Avoidance of heavy investment capital

[image: image246.wmf]B.
Improved cash flow and cost accountability

[image: image247.wmf]C.
More need for expensive office space

[image: image248.wmf]D.
Cost benefits from economies of scale




	6.
	A business case is:

[image: image249.wmf]A.
A plan to anticipate worst case scenario

[image: image250.wmf]B.
A plan to anticipate the various possible situations of the market

[image: image251.wmf]C.
A conscious plan to distribute the market share

[image: image252.wmf]D.
A written document used by managers to garner funding for one or more specific projects




	7.
	Capital investment decisions can be analyzed by:

[image: image253.wmf]A.
setting up a marketing strategy

[image: image254.wmf]B.
cost-benefit analysis

[image: image255.wmf]C.
increased customer retention

[image: image256.wmf]D.
labor productivity metric




	8.
	TCO is an acronym for:

[image: image257.wmf]A.
Total Cost of Output

[image: image258.wmf]B.
Total Cost of Ownership

[image: image259.wmf]C.
Total Cost of Outsourcing




	9.
	Moore's Law means that the price-to-performance ratio of computer chips

[image: image260.wmf]A.
declines linearly.

[image: image261.wmf]B.
declines exponentially.

[image: image262.wmf]C.
increases linearly

[image: image263.wmf]D.
increases exponentially.




	10.
	A “runaway project” is an IT project that is:

[image: image264.wmf]A.
completed on time, but requires much money than originally planned.

[image: image265.wmf]B.
eventually completed late because it required much more time and money than originally planned.

[image: image266.wmf]C.
completed on time, but requires extensive outsourcing to finish which doubles or triples the costs.

[image: image267.wmf]D.
eventually completed, and requires professional project planning to finish within budget.




	11.
	The name given to the situation in which a leading product in an industry attracts a base of users which leads to development of complementary products, is termed the:

[image: image268.wmf]A.
network effect

[image: image269.wmf]B.
lock-in effect.

[image: image270.wmf]C.
increasing returns effect.

[image: image271.wmf]D.
dominant market share effect.




	12.
	Which of the following is not one of the recommended approaches to measuring intangible benefits?

[image: image272.wmf]A.
Think broadly and softly

[image: image273.wmf]B.
Pay your freight first

[image: image274.wmf]C.
Follow the unanticipated

[image: image275.wmf]D.
Consolidation of returns




	13.
	One of the disadvantages of the __________ valuation method is that it assumes reinvestment at the same rate.

[image: image276.wmf]A.
IRR

[image: image277.wmf]B.
NPV

[image: image278.wmf]C.
Payback period

[image: image279.wmf]D.
Benefit-to-Cost ratio




	14.
	One of the disadvantages of the _________ valuation method is that it is difficult to compare projects of unequal lives or sizes.

[image: image280.wmf]A.
IRR

[image: image281.wmf]B.
NPV

[image: image282.wmf]C.
Payback period

[image: image283.wmf]D.
Benefit-to-Cost ratio




	15.
	The three major types of costs used to compute the total cost of ownership of an IT system are:

[image: image284.wmf]A.
Acquisition cost, Operations cost, and Training cost.

[image: image285.wmf]B.
Acquisitions cost, Operations cost, and Control cost.

[image: image286.wmf]C.
Acquisitions cost, Training cost, and Control cost.

[image: image287.wmf]D.
Acquisition cost, Installation cost, and Operations cost




	16.
	The discrepancy between measures of investment in information technology and measures of output at the national level has been called

[image: image288.wmf]A.
productivity paradox

[image: image289.wmf]B.
national discrepancy

[image: image290.wmf]C.
measure of output

[image: image291.wmf]D.
GDP
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